
MATHS

BOOKS - MAXIMUM PUBLICATION

INVERSE TRIGNOMETRY

Example

1. prove the following 

Watch Video Solution

sin− 1 + sin− 1 = sin− 18

17

3

5
77
85

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Tj4lEHKmHrit


2. prove the following 

Watch Video Solution

tan− 1 = sin− 1 + cos − 163

16

5

13

3

5

3. prove the following 

Watch Video Solution

cot − 1 9 + cos ec− 1 =
√41

4

π

4

https://dl.doubtnut.com/l/_Tj4lEHKmHrit
https://dl.doubtnut.com/l/_sWPHxk3F6Hg2
https://dl.doubtnut.com/l/_flxT6rRUUZNU


4. Find the value of 

Watch Video Solution

tan− 1( ) + cos − 1( − ) + sin− 1( )
1

√3

√3

2

1

2

5. If ,show

that 

Watch Video Solution

tan− 1 x + tan− 1 y + tan− 1 z = π

x + y + z = xyz

https://dl.doubtnut.com/l/_IGZ76lWhQhVk
https://dl.doubtnut.com/l/_M9vElQVcZyWY


6. Match the following

Watch Video Solution

7. Solve 

Watch Video Solution

2 tan− 1(cos x) = tan− 1(2 cos x)

https://dl.doubtnut.com/l/_dnj1GuF0SGkz
https://dl.doubtnut.com/l/_BwaDsCqmJrEq
https://dl.doubtnut.com/l/_pH3sStyJI4Dz


8. Solve the following 

Watch Video Solution

2 tan− 1(cos x) = tan− 1(2 cos ecx)

9. Solve the following 

Watch Video Solution

tan− 1 2x + tan− 1 3x =
π

4

10. Solve 

h id l i

2 tan− 1(cos x) = tan− 1(2 cos x)

https://dl.doubtnut.com/l/_pH3sStyJI4Dz
https://dl.doubtnut.com/l/_0jgdhlwFDF8m
https://dl.doubtnut.com/l/_NS4qztxszpcL


Watch Video Solution

11. Prove that

Watch Video Solution

sin− 1 + cos − 1 + tan− 1 = π
12

13

4

5

63

16

12. Find the principal value of 

Watch Video Solution

sec− 1( − )
2

√3

https://dl.doubtnut.com/l/_NS4qztxszpcL
https://dl.doubtnut.com/l/_C85Q591wrKhQ
https://dl.doubtnut.com/l/_9zy2x9VtLc0M


13. If 

Watch Video Solution

sin(sin− 1( ) + cos − 1(x)) = 1
1

5

14. Solve the following 

Watch Video Solution

tan− 1( ) = tan− 1 x
1 − x

1 + x

1

2

15. Solve the following 

sin− 1 x + sin− 1 2x =
π

3

https://dl.doubtnut.com/l/_kaJZOz83adDo
https://dl.doubtnut.com/l/_eh7LutHhhW0M
https://dl.doubtnut.com/l/_VjDrrh400bDH


Watch Video Solution

16. Choose the correct answer from the 

bracket. 

 is equal to

A. 

B. 

C. 

D. 

Answer: C

cos(tan− 1 x), |x| < 1

x

√1 − x2

1

√1 − x2

1

√1 + x2

x

√1 + x2

https://dl.doubtnut.com/l/_VjDrrh400bDH
https://dl.doubtnut.com/l/_3rdl4NYOHMzJ


Watch Video Solution

17. Prove that

Watch Video Solution

sin− 1 + sin− 1 = sin− 14

5

5

13

63

65

18. In which quadrants are the graph of 

 lies,

Watch Video Solution

cos − 1(x) x ∈ [ − 1, 1]

https://dl.doubtnut.com/l/_3rdl4NYOHMzJ
https://dl.doubtnut.com/l/_g0849ys2BJSM
https://dl.doubtnut.com/l/_sCdCxVJRDVzl
https://dl.doubtnut.com/l/_bnh1Wnn2o401


19. If ,then 


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos − 1 x + cos − 1 y =
π

3

sin− 1 x + sin− 1 y = ………. .

2π

3

π

3

π

6

π

https://dl.doubtnut.com/l/_bnh1Wnn2o401


20. if  then prove that 


Watch Video Solution

tan− 1 x + tan− 1 y =
π

4

x + y + xy = 1

21.  is equal to

A. 

B. 

C. 

D. 

sin(tan− 1(1))

1

√2

1

1

2

√3

2

https://dl.doubtnut.com/l/_SRHoqrNME9lS
https://dl.doubtnut.com/l/_T1tXe9l8hmZS


Answer: A

Watch Video Solution

22. if ,show that 


Watch Video Solution

x ∈ (o, )
π

2

cot − 1( ) =
√1 + sin x + √1 − sin x

√1 + sin x − √1 − sin x

x

2

23. show that

W h Vid S l i

sin− 1 − sin− 1 = cos − 13

5

8

17

84

85

https://dl.doubtnut.com/l/_T1tXe9l8hmZS
https://dl.doubtnut.com/l/_8ih13HzRzzUV
https://dl.doubtnut.com/l/_pHVuOOOo0xyV


Watch Video Solution

24. Choose the correct answer from the 

bracket. 

if ,then y is equal to

A. 

B. 

C. 

D. 

Answer: B

h id l i

cos − 1 x = y

−π ≤ y ≤ π

0 ≤ y ≤ π

− ≤ y ≤
π

2

π

2

o < y < π

https://dl.doubtnut.com/l/_pHVuOOOo0xyV
https://dl.doubtnut.com/l/_fnYsZoBcptKk


Watch Video Solution

25. find the value of 

Watch Video Solution

cos − 1 cos( )
7π

3

26. Solve for x if,

Watch Video Solution

tan− 1( ) = 2 tan− 1 x
1 + x

1 − x

27. Find the principal value of cos − 1( )
√3
2

https://dl.doubtnut.com/l/_fnYsZoBcptKk
https://dl.doubtnut.com/l/_8GACRHMCKYMd
https://dl.doubtnut.com/l/_o1mJry4MXffC
https://dl.doubtnut.com/l/_1Kx69jDvbpho


Watch Video Solution

28. Prove that 

Watch Video Solution

2 sin− 1( ) = tan− 1( )
3

5

24

7

29. Prove 

Watch Video Solution

2 tan− 1 + tan− 1 = tan− 11

2

1

7

31

17

30. Find the principal value of cos − 1( − )
1

2

https://dl.doubtnut.com/l/_1Kx69jDvbpho
https://dl.doubtnut.com/l/_1GvfsmNVR0pl
https://dl.doubtnut.com/l/_9dvruXw7WPwC
https://dl.doubtnut.com/l/_jv5z7UwA3EB4


Watch Video Solution

31. Show that 

Watch Video Solution

tan− 1( ) = +
cos x

1 − sin x

π

4
x

2

32. The principal value of 

Watch Video Solution

cos − 1( − )
1

2

https://dl.doubtnut.com/l/_jv5z7UwA3EB4
https://dl.doubtnut.com/l/_uBJFMsnk1o0V
https://dl.doubtnut.com/l/_xswvOcT1nLyo


33. Express  in the simplest 


Form.

Watch Video Solution

tan− 1( )
cos x

1 − sin x

34. Write the principal value of 

Watch Video Solution

sin− 1( )
1

2

35. show that 

sin− 1( ) − sin− 1( ) = cos − 1( )
3

5

8

17

84

85

https://dl.doubtnut.com/l/_EqeBCKllsvN1
https://dl.doubtnut.com/l/_o1j9N4MFS6NL
https://dl.doubtnut.com/l/_kLCalPfAcoa7


Watch Video Solution

36. The principal value of  is 


Watch Video Solution

tan− 1( − 1)

[ , − , π − , π + ]
π

4

π

4

π

4

π

4

37. If 

, 

then find the value of x

Watch Video Solution

tan− 1( ) + tan− 1( ) =
x − 1

x − 2

x + 1

x + 2

π

4

https://dl.doubtnut.com/l/_kLCalPfAcoa7
https://dl.doubtnut.com/l/_1KRsApOD8046
https://dl.doubtnut.com/l/_unBN7THCdcpA


38. Give an expression for 

Watch Video Solution

tan(x + y)

39. Prove that , 


Watch Video Solution

xy < 1

tan− 1 x + tan− 1 y = tan− 1( )
x + y

1 − xy

40. Using the above result prove that 

tan− 1( ) + tan− 1( ) =
1

2

1

3

π

4

https://dl.doubtnut.com/l/_SvRNm6Z10WCB
https://dl.doubtnut.com/l/_v7eaaqSOvqKf
https://dl.doubtnut.com/l/_DBiL33lUoFVh


Watch Video Solution

41. Show that 

Watch Video Solution

tan− 1 + tan− 1 + tan− 1 + tan− 1 =
1

5

1

7

1

3

1

8

π

4

42. Given that ,show 


that ,  is 

Watch Video Solution

cot 3θ =
3 cot2 θ − 1

cot3 θ − 3 cot θ

cot − 1 3x2 − 1

x3 − 3x
|x| < √3 3 cot − 1 x

https://dl.doubtnut.com/l/_DBiL33lUoFVh
https://dl.doubtnut.com/l/_sqg4p3lDYj5p
https://dl.doubtnut.com/l/_pHhTgUdti2AL

